12 #E$ETE (2B) Tube Fitting (Black)

THY
Tee
L Bod ——

.. AllLE e s 558
PB4-M3 3 M3X0.5| 8 15.2 13.7 3.2 1.1
PB4-M5 4.8 |M5X0.8 8 157 13.6 4.8 2
PB4-M6 i lass| wel @ 4 |MBX1.0| 10 |16.2 | 142 | 44 | 25
PB4-01 T PT1/8 10 17.4 13.1 7.6 4.2
PB4-02 9.6 PT1/4 14 20 15 16.4 4.2
PB4-03 96 |pPTas| 17 | 20 | 15 | 195 | 42
PB6-M5 4.8 |M5X0.8| 8 17 15.5 6.6 2
PB6-M6& 4 MBX1.0| 10 17.5 15.5 1738 25
PB6-01 6 17.7 | 13.8 10 T PT1/8 10 183 14.6 9.6 4
2E PBE-02 96 PT1/4 14 21.6 17 18.4 4
2C PB6-03 96 |pPras| 17 217 | 17 | 2186 | 4
PB8-01 7 |prus| 10 |215| 18 | 136 | 54
| gk PB8-02 6 | 232|147 | 136 | 7| PTV4] 10 |218 | 186 | 198 | 54
WIIE oy PB8-03 96 PT3/8 14 223 17.2 | 246 54
PB8-04 96 | PT12| 17 |227 | 181 | 38 | 54
|~ H PB10-01 96 |PT18 | 15 |220 | 207 | 238 | 5
2 *flﬁ PB10-02 o |26 | 16 | 167 |26 | P14 | 15 [247 | 192 [ 254 | 5
R R PB10-03 ’ 906 | PTas| 17 |247 | 193|304 | 5
Métric Himad e PB10-04 96 |pPTi2| 21 | 27 | 198 | 42 5
DfIEFEEC PB12-02 96 |PT1/4 | 15 | 274 | 213 | 34 8
PB12-03 12 299 | 195 19.6 9.6 PT3/8 17 274 | 214 36 8
PB12-04 12 PT1/2 21 294 | 231 47.2 8

Tee
 poof Gac
PB3-M3-NI o 3 |m3xos| 8 |152 | 137 | 33 | 1.1

BZ(Unit): m/m

PB3-M5-NI 3 |154 |127 | 8 | 33 |mM5%0.8] 8 |155 | 13.8 | 3.3 2

PB3-MB-NI 4 MEX1.0] 10 16.2 14.2 5.2
PB4-M3-NI 3 M3X0.5| 8 15.2 14.2 3.2 11
PB4-M5-NI 48 |M5X0.8| 8 15.7 13.6 4.6 2
PB4-M6-NI 2 szl ll @ 4 |MBX10| 10 [162 | 137 | 44 | 25
PB4-01-NI 7 |pTu8| 10 |17.4 | 131 | 85 | 42
PB4-02-NI 96 |PT1/4| 14 | 20 | 15 | 173 | 4.2
PB4-03-NI 96 |PT38| 17 | 20 | 15 | 195 | 4.2
PB6-M5-NI 48 |Msx0.8| 8 17 | 155 | 66 2
PB&-MB-NI 4 MEX1.0] 10 17.5 15.5 5.3 25
2.E PB6-01-NI 6 175 | 13.7 10 T PT1/8 10 183 14.6 10.4 4
2-C PB6-02-NI 9.6 PT1/4 14 216 17 19.2 4
AT PB6-03-NI 96 |PT3B | 17 | 217 | 17 | 206 | 4
i SIS PB8-01-NI 7 |pTu8| 10 |215 | 18 | 131 | 54
- -~ e PB8-02-NI 6 | 231 | 146 | 126 || PTV4 | 10 |218 | 186 | 159 | 54
ol ]\; PB8-03-NI 96 |PT38 | 14 |223 | 172 | 221 | 54
OH PB8-04-NI 9.6 PT1/2 17 227 18.1 26.9 5.4
< \B qﬂ PB10-01-NI 96 PT1/8 15 229 | 20.7 | 235 5
PB10-02-NI 10 | 266|157 | 167 |26 | PT14| 15 | 247 | 192 | 342 | 5
Metric thread type PB10-03-NI 96 | PT3/8 | 17 | 247 | 19.3 | 458 5
AHEFEA PB10-04-NI 96 |PT1/2| 21 | 27 | 196 | 458 | 5
PB12-02-NI 96 |PT1/4 | 15 |274 | 213 | 42 8
PB12-03-NI 12 298 | 193 19.6 9.6 PT3/8 17 274 | 214 | 434 8
PB12-04-NI 14 PT1/2 21 294 | 231 54.6 8

NI: 2 EiesuE NI:Release Ring (Metallic Body)



m. E{L(Unit: mim

& o L 0 R s

PB4-M3 M3X05| 8 |152 | 137 | 32 | 1.

PB4-M5 168 M5x0.8] 8 | 157 | 136 | 48 | 2
PB4-M6 . M6X1.0| 10 |162 | 142 | 44 | 25
PB4-01G Gi8 | 10 |175 | 137 | 76 | 42
PB4-02G 159 | 132 85 | GI4 | 14 | 19 | 147 | 152 | 42
PB4-03G 85 G3/8 17 20.4 19.4 18.4 4.2

PB6-M5 48 |[M5X0.8| 8 17 15.5 6.6 2
PB6-M6 4 MeX1.0] 10 17.5 15.5 53 25

PB6-01G 6 |177 |138 | 10 [75 |cus | 10 |188 | 15 | 96 | 4

PB6-02G 85 | G4 | 14 |204 |182 | 172 | 4

I# PB6-03G 85 | G3/8 | 17 |208 | 179 | 204 | 4
p— PB8-01G 75 | G | 10 | 22 | 187 | 124 | 54
—fF--tHHi o PB8-02G 85 | Gi/4 | 14 | 21 | 184 | 186 | 54
' : 1= :E PB8-03G 8 | 292|147 1138 Mo T Gam | 17 |218 | 197 | 212 | 54
PB8-04G 10 G1/2 21 236 20 344 54

ol e PB10-02G 85 | Gi/4 | 15 |239 | 205 | 244 | 5
PB10-03G 10 | 262|200 |167 [ 85 |GamB | 17 |238 |204 | 29 | 5

< \E {Iﬂ PB10-04G 10 G1/2 21 251 201 39 5
Metric thread type PB12-03G 8.5 G3/8 17 25.6 225 36.4 8
DHIFRN PB12-04G W[ (WA | S TR el T & [z 8

it i

.
E|lc|er|a|rR |H]|B|L

PB3-M3-NI ' 3 |M3x05| 8 |152 | 137 | 33
PB3-M5-NI 3 | 154 |127 | 8 | 33 |msxo8| & |155 | 138 | 33 | 2
PB3-M6-NI 4 |mex10| 10 |162 [ 142 52 | 2
PB4-M3-NI 3 |m3xos| 8 [152 | 142 | 32 | 14
PB4-M5-NI 157 | 14.1 48 |Msx08| 8 |157 | 136 | 48 | 2
PB4-M6-NI A s |4 |Mexto 10 [162 [ 137 | 44 | 25
PB4-01G-NI 75 | G18 | 10 | 175 | 137 | 85 | 42
PB4-02G-NI 156 | 12.9 85 | G1/4 | 14 | 19 | 147 | 161 | 42
PBA4-03G-NI 85 | G38 | 17 | 204 | 194 | 17.8 | 42
PB6-M5-NI 48 |M5x08| 8 | 155 | 17 | 66 | 2
PB6-MB-NI 4 |Mex1.0| 10 | 175 | 155 | 53 | 25
PB6-01G-NI 6 |174 [137 | 10 | 75 | Guwe | 10 [188 | 15 | 104 | 4
PB6-02G-NI 85 | GI/4 | 14 |204 | 182 | 195 | 4
PB6-03G-NI 85 | Gam | 17 |208 | 17.9 | 212 | 4
PB8-01G-NI 75 | G18 | 10 | 22 | 187 | 147 | 54
PB8-02G-NI 85 | GI/4 | 14 | 21 | 184 | 147 | 54
It PB8-03G-NI 8 | B | 148 | 188 1 G | 17 | 218 | 197 | 209 | 54
N OH PB8-04G-NI 10 | G122 | 21 | 236 | 20 | 235 | 54
P ek ‘tﬁg PB10-02G-NI 85 | GI/4 | 15 | 239 | 205 | 282 | 5
ik e s PB10-03GNI | 10 | 261 |208 | 167 | 85 | Gar | 17 | 238 | 204 | 328 | 5
N TR RS PB10-04G-NI 10 | G2 | 21 |236 | 20 | 428 | 5
PB12036NI | o [ ,oc | 105 | 105 L85 | G368 | 17 [256 | 225 [ 438 | 8
PB12-04G-NI 10 | ez |21 |27 | 23 516 | 8

G EfEHF (PFEZ) G:BSPP Thread
NI 2 EResEE NI:Release Ring (Metallic Body)



1= #E$EFE (8) Tube Fitting (Ivory)

Tay
Tee

EE{7(Unit): mim

PB4-M3-W M3X0.5| 8 152 13.7 3.2 .
PB4-M5-W M5X0.8| 8 15.7 13.6 4.8 2
PB4-MB-W 4 158 | 142 8 4 MEX1.0| 10 16.2 14.2 4.4 25
PB4-01-W T PT1/8 10 17.4 13.1 7.6 4.2
PB4-02-W 9.6 PT1/4 14 20 15 16.4 4.2
PB4-03-W 96 | PT38 | 17 | 20 15 | 195 | 4.2
PBB-M5-W 48 |[Msx08| 8 17 | 155 | 66 2
PBB-M6-W 4 |M6X1.0| 10 | 175 | 155 | 53 | 25
PB6-01-W 6 17.7 | 138 | 10 7 |PT1/8| 10 | 183 | 146 | 96 4
W PB6-02-W 96 |PT1/4 | 14 | 216 | 17 | 184 4
2C PB6-03-W 96 |PT3B | 17 | 217 | 17 | 216 | 4
PB8-01-W 7 |PT1/8| 10 | 215 | 18 | 136 | 54
! RQH PB8-02-W 5 sia | v | asa 7 |PT14a| 10 |218 | 186 | 198 | 54
S ufcy PB8-03-W 96 |PT3/8 | 14 | 223 | 172 | 246 | 54
PB8-04-W 96 |PT1/2 | 17 | 227 | 181 | 38 | 54
o~ H PB10-01-W 96 |PT1/8| 15 | 229 | 207 | 238 | 5
- <Iﬁ PB10-02-W a5 et am Il 2uez 96 |PT1/4 | 15 | 247 | 192 | 254 5
R R PB10-03-W ’ 96 | PT3/8 | 17 | 247 | 193 | 304 5
Metric thread type PB10-04-W 96 | PT12 | 21 27 | 196 | 42 5
DI B PB12-02-W 96 |PT1/4 | 15 | 274 | 213 | 34 8
PB12-03-W 12 289 | 195 19.6 9.6 PT3/8 17 274 | 21.4 36 8
PB12-04-W 12 PT1/2 21 294 | 231 47.2 8

B i
Tee

" B (Unit): mim

PB3-M3-NI-W |
PB3-M5-NI-W 3 |154 |127 | 8 | 33 |msxo8| 8 |155 | 138 | 33 | 2
PB3-M6-NI-W 4 |mex10| 10 162 | 142 52 | 2
PB4-M3-NI-W 3 |M3X05| 8 |152 | 142 | 32 | 11
PB4-M5-NI-W 48 |M5X08| 8 |157 | 136 | 46 | 2
PB4-MB-NI-W 4 157 | 141 8 4 MEX1.0| 10 16.2 13.7 4.4 25
PB4-01-NI-W T PT1/8 10 174 13.1 8.5 4.2
PB4-02-NI-W 96 |PT1a | 14 | 20 | 15 [ 173 | 42
"PBA-0INIW | 96 |PTais| 17 | 20 | 15 | 195 | 42
PB6-M5-NI-W 48 |M5x08| 8 | 17 | 155 | 66 | 2
PB6-M6-NI-W 4 |mex1.0] 10 [175 | 155 | 53 | 25
2 PB6-01-NI-W 6 |175 137 | 10 | 7 [pris| 10 |183 | 146 | 104
2.C PB6-02-NI-W 96 |PT14 | 14 | 216 | 17 | 192 | 4
PB6-03-NI-W 96 |PT38 | 17 | 217 | 17 | 206 | 4
N Sy PB8-01-NI-W 7 |pTus| 10 [215 | 18 [ 131 | 54
Al 1 PB8-02-NI-W 7 |PT1a | 10 [218 | 186 | 159 | 54
y PB8-03-NI-W 8 | B 148 1138 I T Pram | 14 | 223 | 172 | 221 | 54
& OH PB8-04-NI-W 96 |PT12 | 17 | 227 | 181 | 269 | 54
= \3 ¢(ﬂ PB10-01-NI-W 9.6 PT1/8 15 229 | 20.7 | 235 5
PB10-02-NI-W 10 2.6 | 15.7 16.7 9.6 PT1/4 15 24.7 19.2 | 34.2 5
Metric thread type PB10-03-NI-W 96 | PT3/8 | 17 | 247 | 193 | 458 | 5
DHIFER PB10-04-NI-W 96 |PT12 | 21 | 27 | 196 | 458 | 5
PB12-02-NI-W 9.6 PT1/4 15 274 21.3 42 8
PB12-03NIW | 12 | 208 | 193 | 196 | 96 | PT3/8 | 17 | 274 | 214 | 434 | 8
PB12-04-NI-W 12 | PT12 | 21 | 294 | 231 | 546 | 8

NI: £ EAREE Nl:Release Ring (Metallic Body)




_ mx

PB4-M3-W
PB4-M5-W 158 |42 48 |msx08| 8 [157 136 | 48 | 2
PB4-MB-W 4 MEX1.0| 10 16.2 14.2 4.4 25
PB4-01G-W 1 8 75 |ows | 10 |175 | 187 | 76 | 42
PB4-02G-W 159 |13.2 85 | G4 | 14 | 19 |147 | 152 | 42
PB4-03G-W 85 | G3/8 | 17 |204 |194 | 184 | 42
PB6-M5-W 48 |msxos| 8 | 17 [155 | 68 | 2
PB6-MB-W 4 |mex1.0| 10 [175 [155 | 53 | 25
PB6-01G-W 6 |177 |138 | 10 [ 75 [cus [ 10 [188 | 15 | 96 | 4
PB6-02G-W 85 | G1/4 | 14 |204 |182 | 172 | 4
PB6-03G-W 85 | G38 | 17 |208 |179 | 204 | 4
2.F PB8-01G-W 75 | Gu8 [ 10 | 22 [187 [ 124 | 54
2-C | PB8-02G-W 85 G1/4 14 21 18.4 18.6 5.4
| PB8-03G-W 8 | B2 | W7 1138 T T Gae | 17 |218 | 197 | 212 | 54
M=) gy PB8-04G-W 10 |62 | 21 |236 | 20 | 344 | 54
! filey PB10-02G-W 85 | G4 | 15 |239 |205 | 244 | 5
il PB1003GW | 10 | 262 | 209 |167 [ 85 |Ga:8 | 17 |238 |204 | 29 | &
N ﬂ@ PB10-04G-W 10 | G2 | 21 |251 | 201 | 39 5
«[ﬁ PB12-03G-W 85 | Ga/8 | 17 |256 | 225 | 364 | 8
= R R pBizoacw | 2 |20 |19 18 =T 21 (27 | 23 4z | 8

Metric thread type
BB

=eme......

PB3-M3-NI-W ' 3 |M3x05] 152 | 137 | 33 | 11

PBIMSNIW | 3 | 154 [127 | & | 33 |msxos| 8 |155 | 138 | 33 | 2

PB3-ME-NIW 4 |mex10| 10 [162 | 142 | 52 | 2

PB4-M3-NI-W 3 |maxos5| 8 [152 | 142 ] 32 | 14

PB4-M5-NI-W 15.7 | 14.1 48 |Msx08| 8 [157 | 136 46 | 2

PBAMENIW | g 4 |mex1.0| 10 [162 | 137 | 44 | 25

PB4-01G-NIW 75 | cus | 10 [175 | 137 | 85 | 42

PB4-02G-NI-W 156 | 12.9 8.5 G1/4 14 19 14.7 | 161 4.2

PB4-03G-NI-W 85 | G | 17 | 204 [ 194 | 178 | 42

PB6-M5-NI-W 48 |Msx0.8| 8 |155 | 17 | 66 | 2

PB6-M6-NI-W 4 |mex1.0| 10 | 175 | 155 | 53 | 25

2.E PR6OIGNIW | 6 | 174 |137 | 10 | 75 |cus | 10 [188 | 15 | 104 | 4
2-C PB6-02G-NI-W 85 | G4 | 14 |204 [ 182 ] 195 | 4

| AT PB6-03G-NI-W 85 | G38 | 17 |208 [ 179 | 212 | 4
s ! % |§; PBB-01G-NI-W 75 | Gis | 10 | 22 [ 187 [ 147 | 54
ol -~ i PBBO2GNEW | o f | | |85 [GUa | 14 | 21 184 ] 147 | 54
it HTEL PB8-03G-NI-W : : © "85 | caB | 17 |218 | 197 | 209 | 54
oH PB8-04G-NI-\W 10 | G2 | 21 |236 | 20 | 235 | 54

= - ﬂﬁa PB10-02G-NI-W 85 | G1a | 15 | 239|205 282 | 5
Melric thread type PB10-03G-NW 10 | 261 |208 | 167 | 85 | cas | 17 | 238 | 204 | 328 | 5

AT 0k PB10-04G-NI-W 10 | ez | 21 [236 | 20 [428] 5
PBI203GNN | pog | 103 | 106 |25 | G¥8 | 17 [256 [ 225 | 438 | 8

PB12-04G-NI-W 10 |2 |21 |27 | 23 | 516 ] 8

G EHEF(PFEH) G:BSPP Thread
NI: £ EiREHR NI:Release Ring (Metallic Body)



http://www.tcpdf.org

